...........................................
1000 0 0 .
o TEST CODE : 3/2018 .
sSeries : B Category No. : 4 .
. @
:Candidate’s Roll Number/ 315meff @1 Trer e :
2] [sl#[1]ol2]1 ]2 :
o Time allowed : 1 Hour 30 Minutes Total Questions : 100 N Marks : 80 .
e a7afy : 1 ger 3k 30 fime Fe W9 : 100 31 375 ; 80 :

®00 0900
-

[

. Atlempt all the questions. Every question has equal marks viz. 0.80.

. Before attempting the question paper kindly check that this
booklet has total 16 pages and OMR Answer Sheet consists
of three copies. At the start of the examination and within first
five minutes, candidates are advised to ensure that all pages
of test booklet and OMR Answer Sheet are properly printed and
test bookletis not damaged in any manner. Serial No. and Series
of OMR Answer Sheet and Test Booklet match with each other.
In case of any discrepancy, the candidate should immediately

~report the matter to the invigilator for replacement of test
booklet and OMR Answer Sheet. No claim in this regard will
be entertained after five minutes of start of examination.

3. Do not forget to write roll number on the top of this question
lbooklet and OMR Answer Sheet,

4. Do nottearor fold any page of the question booklet and OMR
Answer Sheel.

5. Candidate must bring legibly printed Admit Card with recent
coloured photo pasted on it at mark B duly attested by
Gazetted Officer and one identity proof with photo like
Driving License, Voter Card, Aadhar Card, Passport etc.
at the Examination Centre failing which candidate will not
be allowed to take the examination.

6. Candidates are advised to make sure to fill the correct name,
Roll No. and test booklet code on the OMR Answer Sheet. If
the sraoe for the Booklet Code is left blank or mora than ane
booklet code Is Indicated therein and non filling of name and
Roll No. as per instruction, it will be deemed to be an incorrect
booklet e and Answer Sheet will not be evaluated. The
candidate himself/herself will be solely responsible for all the
consequences arising out of any error or omissian in writin
the test booklet code. Candidate shall put histher LTI (Male
and RT| (Female) on attendance sheet, on the OMR Answer
Sheet and on the Biometric Machine along with signature.
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8. Candidates are warned not to fold or make any stray
marks on the OMR Answer Sheet. Use of Eraser, Nall,
Blade, White Fluld/Whitener etc., to smudge, scratch or
damage In any manner on the OMR Answer Sheet during
Examinatlon is strictly prohibited. Candidature and OMR

Fluids/Whitener to smudge, scratch or damage in any
manner, shall be cancelled.

9. Incase of any discrepancy between the English and Hindi

versions of ‘any question, the English Il be
treated as final “%anuc. ’ gl version will b
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Earliest evidence of garlic cloves in South
Asia was found here which dates to the
Mature Harappan Period.

(A) Babarkot (B) Bhirrana

(D) Farmana

In the context of online transaction, BHIM
4 refers to

y (A B ‘Bharat Interface for Money
(B) Bharat Immediate Money Transfer
(C) Bharat Interface for Mobile Money

(D) Bharat Internet for Money

. , Maharana Pratap fought against Mughals
¢ in the historical battle of
" (A) Chittorgarh (B) Hal

(C) Mewar

(D) Lahore

Decimal equivalent of binary number
10100101 is

(A) 128 /(B) 1657
(C) 156 (D) 135

., An essential feature of Federal System is
(A) Separation of Powers

(C) Centrallsat:on of Powers

(D) Autonomy to States

is used in cryoscopy to obtain
4 the very low temperatures required for
superconductivity.
(A) Argon

(C) Krypton

(B) Neon

Complete the analogy.

¢/ QOcean : Water : : Glacier : ?
(A) Mountain (B) Cave
C) Sn (D) Desert

Recently India’s first 3D Planetarium was
mauguraled in which of the following
cities ?

(A) Nehru PI

: ool
(C) Tara Mandir Porbandar
(D) None of these

s

X
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e feqor ufiren & eregH i vefl = S e
TET 9T T o1 ST 9iqed ST Shie h ol |
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2. ITATE S ¥ dedl § BHIM %1 waere
| _UAY T $3THE I AT

(B) W gHifSUE 7t ZFAHT
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(C) 156
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9. /Kalka-Shimla railway, one of the world
heritage sites was built in the year
(A) 1989 (B) 1906
[(C)-1898" - (D) 1888

10. Operator used for dereferencing is

gyt (B) &

C) — D) >>

./ In how many ways automobile license
W, / plates can be made if each plate contains
W1 1.two different digits followed by 3 different
~5 Wigits ?

(A) 468000
(C) 260

The first Buddhist Council wh|ch was held

at Ra ljjagraha in 487 B.C. It was presided
over = i SR

(D) Mahasamghikas

13. Which of the following districts of Haryana

shares its boundary with 2 States ?
(A)"Yamunanagary (B) Rewari

(C) Mahendragarh (D) Charkhi Dadri

. 14/ The total number of terms in the expansion
W/ of (x+a)* - (x—a)* after simplification is
(A) 102 (B) 25

(D) None of these

by 11 ?
A (A 7
%) 8

16. Which of the following is not a paragraph
formatting ?

(A) Alignment
(B) Indentation

—-_

(C) Line spacing |
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Forgery is defined in IPC under

(A) Section 468
(C) Section 465

= T
(B) Sectic

(D) Sect:on 467

18. If ‘CENTRE’ can be written as ‘CNRCNR’

how ‘HAPPY' can be written ’in that
code ?

(A) YHPYA
(C) AHPYA

(D) HPYAP

synthesis consists of heating
primary amine and aldehyde with sulphuric
acid to give quinolines.
(A) Skraup

(B) Doebner-Miller

(C) Duff

(D) Knorr quinoline

Fatehabad district derives its name from the

eponymous headquarters town founded by
in the 14" century who named it

after his son Fateh Khan.

(A) Ghiyasuddin Tughlak

(B) Allauddin Kh||||

(D) None of the above

Which of the following is not a geographical
feature of Haryana ?

(A) Lower Shivalik Hills

(B) Bagar Tract

(C) Yamuna Ghaggar Plain

Capital of Syria is
(A) Mousel J

(B) Kabul
(D) Tel Aviv

0ok, ‘I Do Wht | Do is gritten by

B) Uriit Patel
(C) Aravlnd Subramanlan

v

LT

DS —

1wl o TR |

(A) ©ITT 468 /fﬂ)/ YTl 463

(C) T 465 IRy 4T 467
aft CENTRE' 1 ‘CNACNR. e wn
wFar &, a1 3E F A ‘HJﬂ!\PF’\J 4 foran

1 E R 7
(A) YHPYA ABJ HPYHP
(D) HPYAP

(C) AHPYA

Traiwol § FHIfAE T 8
i oTfe 3 wEiRTse H HeHRE
1Teed o e T R ST R

13.

®

20.
Fmuygiefvehifa
14 ff T H 2193 ¢ BB @M & AH W&
g off |
(A) Frmgfed g
(B) a3 Raersit
ey TSt TITE e
(D) 3 H A i3 T

Frafafas & & FF-ar gfemn 1 dmfes
wEu S 8 ?

(A) T Rranferss weifest

(B) SR ST

(C) I TR AT
By e uéd

i it Toyr

(A) He (B) Fre
ALY TRy (D) o I

JE ARgRE ARG
ﬁ@nﬁ%{?‘ R

21.

&
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24. , The layerofthe atmosphere where electrical
4 conductivity takes place

YA osphere  (B) Troposphere
(C sphere | (D) Mesosphere
type is best suited to
represent logical values.
(A) Enum - (B)
(C) Double '

Char

ol

SR e e TS
et Gl LT

Let a, b, c, d, e be the observations with
the mean m and standard deviation s. The
standard deviation of the observations kx.,
ko, KX, KX, KX i ‘

(B) slk
D) s

sign of (3 + 2x)* ?
£,99 (B) 399
(D) 699

was established by Babar as
memorial to the victory over the throne of
Hindustan when he defeated Ibrahim Lodi
! . In1526.

: ¢ (A) Shah Qalandar Mosque

(B) Kabuli Bagh
(C) Red Fort
(D) Peacock Throne

Value of Y333 is |

(A) Qor 3

1
© 33

Haryana contains 2 National Parks. One of
them is Sultanpur National Park. The other
one is

(A) Bhindawas National Park
(B) Kalesar National Park /

g C Nahar National Park
(D) Chhilchhila National Park

Which of the following function keys is used
as a toggle key for changing referencing
modes ?

(A) F2

=4

W) e

(D) None of these

A

31.

(B) F8
(D) F6

-5
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24, STYHET i T FEl fereg =eTehat Bielt 8
(A) FHATIHESH (B) &iaHEd
ey ATEHEd (D) TEIdEd

afz a, b, c, d, e A M e feerer
s aTch THde 8, A TR kx,, kx,, kg,
kx,, kx, %1 AT 2

(A) K+s

/(kas
(3+2x)w%ﬁ%@rm=ﬁgwia%‘m&mw% ?
(A) 599 (B) 399

(C) 299 —/(D_)leaa
2 T ST N 1526 H
SaTem A 1 e 3w fegea o fered
mﬁmaﬁrgﬁrﬁsﬁmﬁr
(A) TITE THeTal
By hIget =T
(C) @ ferett
(D) R farmEa

(B) sk
(D) s

@

28.

29,
(A) 03
© 3

@ o 3 2 T I § | 3T A TR Gear Qe
TS ITE | @R

@y rgram T 3T

(B) Frra T A

(C) TR TG IUH

(D) Tt e 3™

freferfiad § & HA-H aE g

$oit it Wity wehid @18 &

g B 8 7

)y F2
GE

5
:

T 2T
& ferg

F8
(D) F6
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32. The law declared by the Supreme Court is
binding on all courts within the country. The
Article deals with this is

(A) 214

(B) 226
(D) 324

33. Which of the following rivers does not have
their origin in Aravali hills ?

(B) Berach river

(A) Sahibi river
(C) Dohan river

34. Compton Shift depends on which of the
following ?

(A) Incident radiation

(B) Nature ofscatterlng substance

(D) Amplitude of frequency

35. The district of Haryana was carved out from
Karnal district on 1 November 1989. On
24 July 1991, it was again merged with Karmnal
district. On 1 January 1992, it again became a
Y separate district. Which is the district ?
(A) Hohtak (B) Hisar
' at/ (D) Kurukshetra

36. Ranikhetisa
Viral dise 3
(B) Nematode dlsease
(C) Protozoan disease
(D) Fungal disease

M-ﬂuj

7. Which is the primary nutrient element ?

(). Suiphur (8) Cobalt _
(C) Sodium ». , assium’
38. The Great Barrier Reef is located in

(B) England
(D) New Zealand

(C) s e bl

39. HCV stands for
(A) Heavy Cash Vahlcle

(C) Hand ommerclal hlcle
(D) Heavy Consolidated Vehicle

AR O

@aﬁawmﬁrﬁﬂw%mﬁmﬂ

ATATETE] TSI @ | -1 T e
Haiftra 2 7 |

(A) 214 (B) 226

(C) 141 324

Sreaferfaa 1 @ ford 7 &1 3™ a6
TRedi H A & 7
(A) @rfesh et
(C) @red &l

(B) v T
’py%maaﬁ

/34, i e Frerferf 3 & e

%

fafea ?

(A) Frmafera ferferor

(B) Rl waref it Sf
muhaﬁfmv
ATgfT =1 STTETH

35. afETon 1 78 FFe 1 T9R 1989 Fi HEW
&t & Frspren T | 24 AT 1991 I W
O 8 e ot 7 e foan mn | 1 sAat

1992 1 T- A: T YU Forerm s T | 73
FH-T1 e e 7

(A) T . (B) f&mw
(C) T |L(DY Fear
Op St
,,wa’*ﬁ"wn“rfm
X (C) W= U
(D) sk AT
»*39 FA-TANITF TNF G R ?
(A) FTH (B) wHidTee
€T witem arefiEm
ire At {1 dfRm
_(B) STEfem (B) ¥l
V0 wdwm () =i
=, H/. 3, w5 A @
(A) Tt 1 SRg
/__(Ba’ Tt waiiae Rgwat
\ (€) & wufifye Rzwar
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40. When Haryana was formed in 1966, 40. & 1966 gfemn i Fmiv gen, 7a sHiem

was declared as the second state language TR g qgﬂ TSI =1 =i
by Bansilal Govt. e man o |
(A) Punjabi (B) Hindi /(.,e()’ qSTe (B) &hH
(C) Haryanvi (C) whamorEh (D) affa
For real x, if cose=x+%,the'n @ STEdtaF x o Afe cosB:x-&%%,?ﬁ
? (7]
. ' TRIS Y
(A) 8isan acute angle (A) 0=THIV 8 W= %A
(B) @is right angle (B) OFHHUIB
(C) 6 is an obtuse angle (C) aﬁrﬁﬁﬂ 2
No value of 8 is possible’ | Dy o A W TE R
42. Inyear _Chandigarh declaredasthe | (42) @ __ ¥ ITG S 9Rd H TEe
4 first smoke free city of India. - el R = fepa T |
(A) 2002 (B) 2004 (A) 2002 (B) 2004
3 (D) 2018 ey’ 2007 (D) 2018
What is related to ‘frog’ in the same way as |  43. ﬁﬂ:r TR Teh & ‘gt weied 8, 36 FHR
‘snake’ is related to ‘frog’ ? | - ‘Hew @ Hetaa g7
(A Fly; (B) Python Ay B
(C) Tadpole (D) Worm (©) =i L (D)

Desynapsis or unpairing of homologous (4_9 %ﬁﬁ'@'ﬂmaﬁmﬂﬂﬂl@ﬂﬁg‘m

chromosomes is started in  m ¥ st SR |
?;\E;gebiakinesis (B) Anaphase X _ (A) STEHEAEH (B) THATSHSI
(C) Diplotene’ (D) Zygotene @ fewrdm o TN

Muhammad of Ghori defeated Prithviraj | - 45. Tere W 3 gedits <tem st Frefafad

Chauhan in which of the following place§ ? A 3 forg Torm TR B ?
(A) Kurukshetra  (B) Panipat (A) FrEA (B) THIT
(C) Rohtak (D) Taraori (GIRUSED /ﬁ{) il

46. The statement T&&T Il F&&T where T is HYT T&&T Il F&&T _,____%, &l
true and F is false is THG RN FaAEAR |
(A) True’ (B) False : /"Af' | (B) S e
(C) Neutral (D) None (C) e (D) 3T
47. Executive Head of the State'is 47. TS o FHREH TIE@ -
(A) Chief Minister ~ (B) Governor AR gEE (B) T
(C)pPigsidenty (D) Prime Minister (C) Trgafe (©) urd
7. B
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48. Which is the smallest positive integer n, for | - 48, o DI GATCHS quTfeh n -9 AT LED
which (1 + )20 = (1 =1)* ? R (141 =(1-)" 87

(B) 4 ARy 1 (B) 4

NCEe D) 0, ©) 2 W 0

. Which one of the following is correctly g 1 @ -8 @8 gAfed 27
@ SR 214 — I+ A Y T

ARA) AT "_h.?l F ; EARIERIC
establishment of High Court &
(B) Article 227 — Every High Courtis (B) A= e 227 — Jdeh Jod AHdd
Court of Record sTfrerg o =TI N
(C) Article 76 — Supreme Court has = _ gdt=g med & U™
Original Jurisdiction (C) 3 mt“éa iR FA
(D) Article 131 — Office of Accountant TS SR
General D] AT=9% 131 — TEETHR I FEd
Find the missing |etters that will complete | 50. 2 o TSl e AER T cadl
47the series Imnnm/m nl. ! ;ﬂl ﬁg miimanyy. i
(A) mnmn (B) mnnm- (A) _ ,(—B)/mnnm
(C) mnmm (D) nmmn (C) mnmm (D) nmmn
Existence of mango groves attests itsname |  51. 3T % 3qai @1 e Frefatea § 8 e
to which of the following city ? T 3 1Y 37T AT Sl g7
(A) Bangalore (B) Ambala (A) STTER /(-B’J/EWTET
(C) Amarnath (D) . Chennai (C) ITHTY (D) ==1§ 24
52. How many integers between 1 and 566 are @ {1 seeH A3 A5 H (ETERWIET o
divisible by either 3 or 5 ? - TR g0 o 19 k
(A 264 (B) 263 . AN 284 (B) 263 -
' | |
(C) 262 (D) 254 (©) 262 (D) 254 M- 3

TS ufwY W UERT S (Q),

53. - The quality factor (Q), resonant frequency @ CleEll
1 ) Sl ag ?ﬁETg (f, = 1,)
HHeRT gR TEe § |

(f,) and bandwidth (f,~ f,) of series resonant
circuit are related by the equation

——

M a=ih-t) @ =i @ a=6-1) 8f o=kt
0
Y O o, -—— C) f,=Q(,~1 D) Qf =—
(D) Qf, -0 ©) f,=Qf,-f) (D) Qf"_(fa—ﬂ)
54. The Indian Governmentsetup Commission |  54. T SRR A 23310, 19667 E2l
under the Chairmanship of __on23 aregerar i feremm U= Uee 3 frae e
April, 1966 to divide the existing State of - g s i i Fatia w6 'g AT
Punjab and detfelr_lmine the boundaries of AT |
aryana.
(B) Jus . Katj (B) =IH{d TH. FES
(C) Justice Deepak Mishra ' (€) =mHfd ok fhen
(D) Justice Ranjan Gogoi (D) w T T
B r .8-
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55. Choose the word which is least like the
other words in the group.

(B) Aswan

(A) Mettur
(C) Hirakud

Which one of the following statement is
incorrect about ‘Harshacharitha' of
Banabhatta ?
(A) lts first chapter is devoted to the life
and famlly of the author himself
~The/fiith’chapter’deals with the
ancestors of Harshavardhana
(C) The sixth and seventh chapters
deals with wars and conquests of
Harshavardhana
(D) The last chapter gives a description of
the various religious sects living in the

forests of Vindhyas

57.

it 35% =77 = 5% theny +2 =
(A) 35 By

; )2,
< - (D) None of these

X

58. Chairman of NITI Ayog is

(A) Finance Mm:ster (B) President
G)El g Ministérs (D) Home Minister

A vertical sp ring is stretched by 3 cm when
a load of 3 kg is attached to it. What will be
the period of oscillation of spring when a
load of 2.45 kg is attached to it ?

(A) 0.415s (B) 0.315s )
(C) 0.215s

is considered as the first
crttical manlfesto of Urdu poetry

60.

(B) Yaadgar-e-Ghallb

(C) Hayat-e-Saadi

(D) Woh Nabiyon Mein Rahmat Laqab
Paanaywala

The value of sin50° is
sin130°

(A) -1 ;

C) 0
(D) Not defined

61.

@5.

@

C;
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a8 YIe8 gie S wE H 3 vl § Hel
frean @ |
(A) " (B) ATgA

(C) TRIES APy TagS

ST ¥ ‘geEiE % way H Preafafaa d @
FH-G1 FIH ATA & ¢

);.afszm T I TEF & S A
qfeam 1 FHiid
(B) uif=ran eI gHaE & a9
Hefed

() @31 3R Hres STET T H el 3T
Tl @ weiferd @

(D) ifm ayeam fer ¥ Sel # @ A
iyt enfife wweral = forewo SaT @

57, afe 35% =75 =6% dy+z=

(A) 35 By x
(C) (D) T & IS A&

Ay I * reay R
(A) feramsf (B) Tt
/(grm:m‘t (D) TEHAl
3 f36.777. &1 YN T T T Ieaier B
3@, fig=dt & | 51 2.45 foh. 71, &1 T R
&M @ Sewmn S, afﬂﬁﬁﬂ%a‘rmﬁ
ety 1 gt ? A -
(A) 0.415s 03158 -
(C) 02155 4 (D) 0.115s
ﬁaémﬂamﬁmmvam
u‘mﬂqﬂmm%l
(A) THER-T-T-ad
(B) TR -TU-TieAsl
_ oy Tma-T-ardh
(D) = Aferat H TEHe dehtE TSt
sin50°
sin130°

-

58.

1

2
—
2¢

4
e YW

EETRY
—_—
o\ 4V

FHIAA B

g

(D) ufvtre =1 fopan s @eRan

M

A e

™
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62.

In 18" Asian Games, 2018, Haryana
« topped the chart among Indian States with
18 medals. These games were held In
{A) Malaysla i (B) Delhi

nesia’ (D) China

(B) ACH
(D) None of these

If two events are independent, then
(A) They must be mutually exclusive
(B) The sum of their probabilities must be
equal to 1
(C) (A) and (B) are correct
JINone of the’above is correct

As of now, number of national highways in
the State of Haryana are
(A) 25
(C) 32

D) 36.

Complete the series starting with the
given number, following the sequence
of original series. What will come in the
splace of (iii) ?

= 1§ 7105 53 27 14 75 425
85 (i) (i) (m) (iv) (V)

% (A) 9.5 (B) 11.5
(C) 9 [D) 11

orHTTPis the most popular
protocol to connect web appllcatuons

\) "f _”— }”TH 1, i'Fllﬂ"&"D 4
(B) H|gher Text Transfer Protocol
(C) Higher Transfer of Text Protocol
(D) Highest Text Transfer Protocol

1‘a~

The Arts and Cultural Heritage Trust
(TAACHT) has set up the world's first
Partition Museum at Town Hall, Amritsar,
Punjab Ind _ Chalrman of this Trust is

r"ﬁ i

! (B) “Preet Slngh
(C) Sunita Jain
(D) None of the above

18 3 ufiraré @<, 2018 % gfEn I 18 ygah

F gTY R 1 & 91 8 3 Tom T

fr 1A @ R gL ?

(A) W (B) feeeht
: (D) =

@3/ 7y ¥ ek & forg Iwcerdl g @
Ay AR (B) ACH

62.

(C) LH (D) TH ¥ IS 7L
a2 &) gemd A €,

3 g 3 B
(B) Y WiRrarertait o1 ANT 1 3 U= BT

ﬁ(m%;*ﬂ e
(A) 3R (B)
IR A A RE G D

. a9 7, mwﬁn@amﬁfﬁ

MZB (@ 29
"\ (Cr 32

(D) 36

66. W T 1 FTAW FA §Y A S T |
anmaﬂm@fﬁl(m)aawmth
QT ?

105 53 27 14 75 425
85 M) 2y i) v )
(A) 9.5 _(By 115
€ 9 (D) 11

67. IIHTTP A9 ) Sred
%mmﬁwﬁmﬁwﬁzﬁmm

(C) T TEH IAh T Torwien

(D) TR IR TiEH Warehiat

Tl TR AR TSrdd =1 (TAACHT) A
ﬁaa%ﬁéﬁmqm =TT, T

w,awqw USTE, W | 6 |sa=m'r$
:qwaa

(0) Wﬁﬁ
(D) & H & T e

(68

-10-
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_ 69, Haryana's first armed forces' preparatory

._ ") (C) Chandigarh
70.

[T

institute will be set up 1n
(A) Panipat

(D) Htsar \

In most of the breeding programmes, the

y main aim is to develop varieties with which
of the following features ?

(A) Dormancy

(C) Improved quahty
(D) Change in maturity date

71. Selectthe odd numerical pair.
(B) (56, 63)

(A) (16,18)
(C) (96, 108)

Montesquieu wrote “constant experience
shows us that every man invested with
power is apt to abuse it, and to carry his
authority until he is confronted with limits.”
This is taken from the book

(A) Social Contract

(B) Leviathan

(C) The F{epubhc

algonthms compresses
video data 1o reduce number of bytes
that can be easily transmitted and then
decompressed
(A) VolP

(C) ETHERNET

73.

What s the genotype of human blood group

Number of cities included under Smart
Cities Mission is
(A) 99

() 199

(8) 100
(D) None of these

11-

D
@
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@ g&awnﬁqﬁﬂwaammm

1 zorfye i s |
TR
ATCOE L B feem

freRTeT o Al |, eI e
Srfraa § & fr ferdrraned 6 e
Pt wT e 7

(A) <
=g IS AT

ﬁq:rawa%gmﬂﬁm aq 1
(A) (s, 18) (B) (56.63)

©) (96\108) Py ‘85139%%

Ryt R

it 3 foran “Faie ST € <G € 1
o GO Y Sl JEH G

~

weriftem fafea sl
aeed i HE TeR % fo wifed I
% aiftp Tr e & SfE 8w TR R
FgdfifEd I |

_AB] MREG

(A) VolP
(C) ETHERNET (D) LAN

74, e T AB T SieET F R ?

A T8 (B) i
C) IhIA (D) F°i
75. T Rt forg i R A HEA R
(A) 99 100
() 199 (D) ¥ & T
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76.

77.

X

78.

v
X
pE=—

ever Sufi poet.

(B) Shah Gulam Jilani

%

(C) Shah Muhammad Ramzan Shaheed
(D) None of the above

Who was the first woman judge of Supreme

Court of India ?

- aPuI
(C) Sujata Manohar
(D) None of the above

Recently, which of the following States
has withdrawn the ‘general’ consent
that was given to the Central Bureau of
Investigation (CBI) to carry out search
and operations in the State without
informing the Government ?

(B) Punjab

(A) Karnataka
(C) Delhi

What is the circum radius (in cm) of an

equilateral triangle whose side is 9 cm ?

3V3
A 33T ® -
33
€) 3 D) =4~

Choose the rqlsslng number in the series
2!3’6115/42, 7
(A) 84 i

(C) 94 (D) 60

According to Haryanvi folklore, Guggapiris
believed to be the protector of

(A) Human (B) Birds
(C) Cows

GPRS is used in mobile phones for"
(A) Sending SMS

(B) Data communication

(D) None of the above

is considered as Haryana's first

~

< ® X

00V R R AR
= gfemn &1 ggen ghl Ffa

6 -
(D T S 2
(A) dra qEEE
(8) e e forerr
(C) WITE HewHe T et

3o § 8 I T

g ¥ gaiea AEed %1 9gdl qigen
=rnefisn A off 7

(A wifer sfeft

By T g

(C) T

(D) %ﬁﬁﬁﬂﬁ

T & 8, frafafeq 4 @ g osg 3 &
mﬁ@ammﬁmﬁr{m
FO ¥ fore Fw Sifa =0 (A EfieE.) =
ATE ‘e TeEfaamE A T R ?

(A) FAH (B) U=

C) feoett (Y v

a;:%ﬁf v i uftfsen (|41 3) =0
q o R R 7

PRy 2

(C) V3

e 2, '336
T |
(A) 84
(C) 94

FEE iFwaTeT F STER, TR Y
o1 T&Teh HTHT ST © |
(A) HES q&ft
xQ ™ );rmf
82. WIETS W § S, 37w uw.
e s W # |
(A) TH.T.TH, W
BT [
(C) e wiyy
(D) I H R wrd 7l

&)

79.

(BY
3J3

B) =

115 42, ? 4 g« §E&

«12.
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83. This festival celebrated on the third of the

bright moonlight nights in the month of
Shravana.

(A) Gugga navami
(B) Sanjhi

L l’.! Tenl

(D) Govardhan Pooja

84. Which of the following is false for Watson

and Crick model of DNA ?

| (A) The helix has deep, wide major groove
and shallow narrow minor groove
. (B) The two strands run antiparallely
(C) A complete turn occurs in every 34A°

M\ Adaoaninge can
G B L a1t

san"binds to thymine by
3 hydrogen bonds and guanine can
binds to cytosine by 2 hydrogen
bonds !

85. Whichofthe followingisnotastandardisation

organisations in the field of Information
Technology 7

3/2018 (4)

g3,  HTEvl HTE 3 Y e o e i A S
Fren wen 8
(A) T e
(B) A
=
(D) TEHA TN

(887 B0, 3 A o i Hiea oy

ﬁﬂ%ﬁaﬁﬁﬁaﬂ'—r—mm%?

oy Frech i Ty, < @3 @t i

(©) SR 34A° TUTH T A T 2

(D) 3 TEeiSE EHl & g A F W
w2F grfed B el § 37 2 T
S¥l1 3 T AT o e A wiea
EEERIE

(85; et 1 & S - G SETenl < &3
/% o A T TE 8 ?

(A) 1SO By IST) (A) 1SO ISI
s Eo_f ] IEL, }
y (C) IEEE, (D) ANSI |EEE (D) ANSI
86. Recently referendum on legalise abortion AT H ?H migre  F=fiea 3 fma <@
was held in which of the following ¥ SFHG TOE g 7
countries ?
(A) Spain (B) ltaly (A) FF B
(C) Finland - W(D)mirelandy (© fests
- 87 T TR Y HifEs
87. is a traditional Punjabi oral story- O
telling that came to South Asia with migrants :ﬂﬂ-aﬂﬁ.%, 3 2o ofimn § sRe WEE
from the Arabian peninsula. | yate R 3T |
(A) Rasalila (B) Katak (A) TN (B), T
:1 (C) Gugga (D) Kisse (C) T ) Terem
iT 88. If A and B are symmetric matrices, then @ Ife A 3ir B wmfir ST R, @ AB- BAR
E AB-BAIis IR
' (A) Null matrix (B) TW NE
_ Smetri atix - ©) Rt ST
(C) Skew-Symmetnt it g D _a :lﬁ
(D) None of these (D) T A AR
13- B
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English Language

Fill in the blank with appropriate preposition
selecting from the given options :

Indulgence
of the roads to ruin.

drink is one

00 0O O A

o s
‘ﬁaﬁﬁauﬁmﬁ% TG 9T T FHA=T

(B), "with ,@rﬁﬁaﬁaﬁaaﬁmr
The Motor \..feﬁsus-lI Victoria is bound (D) wis=d # 3y ﬁaﬁaﬁ |
aples.

(B) by 96. TS @I = ‘‘TwE’ TE FIA W HAH
(D) through ?

Select the correct expression and fill in the 1 (A) ot W (B) ==

blanks : ' (C) El§ﬁpﬁ%

r@ The plaintiff was ‘whenthe | g7 ez ol wed & 7

(C) putin
(D) put up with
He has

deal.

(A) knocked down

. _(BY"knocked up
(C) knocked |n

Identify the figure of speech in the following
sentence :
“Milton | thou should'st be living at this
hour.”
/s (A Simile

. _,(B)“‘ Oxymoron

) uphem:sm

“The child is the father of the man.”
(A) Antithesis _(BY Hyperbole
(C) Metaphore

the world a great

(B) U A1 TH & Afreh vl & el
(C) T I Uk W 3Hfeh eaf wygl i
(D) et ht T TS

98. #TISH! Y62 1 WIFGTHF G H &Y 2

(A) ﬁ?fﬁ (B) as%a

g
(D) T 3 T gt o |
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10.

16.

17.

18.

18.

20.

15.

Candidates are warned not to carry handkerchief, any mobile
phone, any type of watch, belt, wear ornaments like ring, chain,
earring etc. electronic or communication device, Pe_n. Pencil,
Eraser, Sharpener and Correcting Fluid in the examination centre.
If any candidate is found possessing any such item, he/she will
not be allowed to enter in the examination centre. Candidate
found possessing mobile phone or any other aiding material
as mentioned above in the examination room will be treated
a serious violation and it will amount to cancellation of the
candidature and debarring him/her from future examination.

. The written examination will be supervised by doing frisking

before allowing entry into Examination Centre, using CCTV
Cameras, Biometric Attendance process by capturing the
Biometric thumb impression and photograph of the candidates
during Examination. Videography and Jammers etc. shall be used
in the Examination Hall/Examination Centre to stop copying and
impersonation etc.

. Candidate's request to change the examination centre and seat -

in the Examination Hall shall not be entertained.

. The scanned photograph of the candidate on his’her Admit

Card or attendance sheet will be tallied with the candidate
appearing in the examination by the invigilator. Inthe eventof any
discrepancy in the identification and verification of the candidate
and photographs, the candidate shall not be allowed to sit in the
examination and be liable for criminal prosecution.

14. The OMR answer sheet consists of three copies, the original

copy, the commission copy and the candidate's copy. Do
not separate or displace them. Do not darken the bubbles in
three copies of OMR Answer sheets separately. Candidate
must handover the OMR Answer sheet without separating
the three copies to the invigilator at the end of examination.
Invigilator will hand over the candidate's copy after separating
it. The candidates are allowed to take away this Test Booklet
with them.

Each question has four alternative answer of which only ong is
correct. For each question, darken only one circle, which ever
you think is the correct answer on the OMR answer sheet with
only Blue/Black: Ball Pen provided by the Commissiap.
Pencil should not be used for darkening the circle. If mofe
than one circle is found darkened, that answer will not be
evaluated.
No candidate shall be allowed to go to the toilet/washroom during

first and last thirty minutes of the examination. ]

No candidate will be allowed to leave the OMR Answer sheet blan
If any OMR Answer sheet is found blank, it shall be crossed by the
invigilator with his/her signature and mentioning “Cancelled” onit.

The answer sheet will be evaluated through electronic scanning
process, Incomplete or incorrect entries may render the answer
sheet invalid.

Carefully fill in all the necessary particulars on the answer sheet.
Change of answer sheet is not permilted.

.

While darkening the appropriate bubble(s) in the boxes darken
the chosen bubble(s) fully as given below. If you darken mare
than one circle, your answer will be treated as wrong and such

‘answer shall not be evaluated,

10.

1.

12,

13.

14.

15.

16.

17.

18.

20.

<R
®

syt vy e 2 e @ 6 3 e, wrEe B, R o o
) 7, dree, YeERI a1 Her Fa 96, T4, e, son, i s
e o firer 3 o rcen e witam % # 5 @ W 3R 3 i st
A=, T H wE R yarfin @ e of wpn S TEE | A e
%mmmmﬁwm-mﬁmﬂ{%mm_lwmmg
% o el awﬂ%muﬁﬁm@mmgﬁﬂ@a@m
<dr@ S o T &, e s & o g8 fr @ TR 3EerE we
armmafﬂqﬂmﬁmﬁmwﬁfmﬁm'ﬂﬂmﬁamuﬁwnﬁn
T aeh et  Iufim g o o e T femn e |

Forfira e 3 e § e - J w9 | 96 qemeh F sifafer,
CCTV &m, i 97 & oty ¥ Frem S ufeufe s, et
wie, difedmmhi i S = A A e R i T

S it o syl 3 T TS A Tl A2 6 |

e~z 1 qiadh 1 when-gte 8 e ¥ afeda F dEg 7 f o
apvzeff ) st fereme el foen s | ' _
e g SR A Safe e i el % wh g g
1 firem syemefi & fm o | e 3R 39k B % FeaT 3R
qear & Frefl ot werr ) ferimfe arg s wx ananefl @ whan 7 w4
1 srgata 7@ A st it e st s T g o

=7 OMR T-% # = ufeat , ga v, smgm wfy g e

wfa | 4 e a1 3 3 | OMR Iet-rm =1 i wherdt  wivett 1
AT~ 37eTT e 7 F | 3vefi ghen ward g4 W OMR IH-97F i
At et =t srem R forr s ofteferes = g 3 | araneff.afa
a1 aftefiers TR ST F05 38 3 3 AT | Sed ST Ty 3 lien
of R I S g E | ' '

eI T F TN Ahieter 3w feu e E T @ e uw el & | e
o F FT0H 0 OMR I -5 H el 36 T el 31 99 § WU 8
o w0 ot I AnEd 2 | 9 SITOERT T TRT IUETE S T 8
mﬁmmm-hﬁmﬁlﬁﬁﬁw%m&ﬁam'
e e e R af el 3 36 v 21 v = e e Tren R v um
I A TE B S | i ;
e % werm o sifom divw fiee 3 Ao Tt oft svemeff 1 e
(Fadte /ateren) H s ) srgufa 76 6 smof )

Tt oft apameff F1 OMR I -7 wreht gz T 21 afz
1§ OMR I-9F @reft uré ¢ o1 yirdies 39 W w59 F
YT, AT FEE = ST sl sa w e R

-7 ) W9 gerRi SR dum & el | sn @ e
AT T I ST B A R |

. wHE S e eEvEiEE T e | s &

wEera A i T R | ,

it % w0 T /T T e e fag & e e /e @
afg a9 v @ sy Tl F wen v § 91 TR I F TEh 96
s offt TR I S et TH e |

CORRECT METHOD/®&! Tt

WRONG METHODS/ et &t

@900

A®OO0 GHOO0 ®®O0 A®OO

21.

If a candidate does not comply with the instructions as mentionad
above or creates any kind of indiscipline, the Commission shall
take action as per instructions and in addition can also debar
the candidate from appearing in the Examination, to be held in
future and can also file criminal proceedings.

21.

-16-

afe 3 onanefl 3egm it 1 e 7l e & n oA A
& 7t s Frdemem 36 frva. Frard wom, s g st @
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